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PERT MATH
PRACTICE TEST

DO NOT usE A CALCULATOR WHILE WORKING ON THIS PRACTICE TEST.

CALCULATORS ARE ONLY ALLOWED ON VERY FEW PROBLEMS ON THE MATH
SECTION OF THE ACTUAL PERT PLACEMENT TEST.

]

Evaihate means “pwgin'
7

¢_ 2. MASIA3
-200. *LO ~F
Evaluate: 2xy? -3xy -7 If x=—4 and y =5. Solve for y: 4—(y~5)-(y+3)=2
a. -147 . .25
2
b. -133
b. -5
c. 233
Cc.
d. 1653
19
d. —
5
40
Simplify: 6—4f3(2x +5)-4x] Solve for x:  0.2{2x -1} = 0.2x « 0.08
o
a. 4x+30
b. 5
b. Bx+30
c -2
d. 03
\\se}} \' 0-‘0“@ i
Find all solutions of 5-2x +7 2 6. Solve the formula 3x + 4y = 1 =
a. xz-3 a. dy =12-3x
b. x<3
C xz3
d. xs-3




RIATO12:A% S

x-4 3 Set up the equation that can be used to solve

Salve the equation: =5 the following: “Eight less than the square of
a number is the same as adding the number
a. x=-5 and four.” Use x to represent the unknown number.
: _ yA

b. x=-6 a. B-x?=x+4 X _3 =X+L‘
c. x=10 l b. X2—8=x+4J
d. x=2 ‘ , C. 2x-—8=xf+4 | .

The perimeter of a rectangular swimming pootl is 30| J0s€ books for the semester cost $432.00.
meters. The width of the pool is 3 meters less than| How much tax will he pay If the tax rate

its length; find the width of this swimming pool. is 7%?

a. 10 meters 2,0 =X+X+tx-3+x-3| a. $61.71 432 %0+
b. 9 meters x =9 b. $28.00

C 6 meters e c. $302.40

d. 3 meters Xx-=3 x-3

-

Simplify: (- &x*y* |- 6xy~) ::;g% (t:;‘e number 37,120,000 using scientific
- ﬁ 1
— 48xAy7 5
= " H3x a. 3.712x107 I +
b o “ 3.%Fl2 ~ 10
- a8y Y b. 3.712x107
c ‘“:fs ¢ 37.12x107
d. 37.12x10°%
&
y
Divide: 2X°¥ — 132xy’ + 3xy Subtract: (7x* - 6x? + 2x)- (5x* + 8x - 3)
Xy .
a. 7x® -11x? - l
a. 6x—9y X% ~1 6x +3
b. -3x
b. 3x—4y
C. 7x* -11x? +10x -3
e 3x-4ay+1 |

d. -4x* +10x-3

d. 3x? -4y + xy




Multiply: (2m - Sn)dm + n)
a. 8m’ -5n?
| b. 87 —18mn-5n?

c. 8m? +5n?

d. 8m? +18mn+5n?

(A

Multiply: (4n -3)

a. 1602 +9

b. 167° -24n+9

c 160 -9

d. 87°-6

Find the product for (2k? - 6k +9Jk +3)

a. 2k —12k? +9k + 27

b. 2k3—9k+§[

c. 2k® -12k* -27k-27

d. 2k* +9k* -9k -27

(.

F completely: 4x2 —16
actor completely

noT FACTORED

comp‘ubij

3-&@."‘1‘12_’.‘.*i)
Z 7z 2
b. (2x+4)x-4)
T alx-2)fx+2)
d. (2x-4)x+4)

Fadox, completely: 9x°£ 6x + 4

ply €AcH
CHO ICE ﬁ\lb see |IF
IT ets  yoo  Hx%-1b

np!
Mw LT

20

Factor completely: 4x® +12x2 + x +3

a. (x+3)fax? +1)

b. 4x*(x +3)
¢ afx—3)ax? - 1)

d. (x+3)2x+1)

L

21. AR

What is one factor of the trinomial3x? -2x - 87 What Is one solution of 4a® +20a=07?
a x+2 (3)(“")()“'2) a. a=-20 a = -5

b. 3x-2 a = O

c x-8 c. a=4

d. 3x+4 d. 8=5




23, IR

Solve the equation: x? —10x +24 =0

a. x=-120r2 X< ’-I
b. x=—6or -4 x = (o
[c- x=60ra]
d. x=2o0r12

4x +4
Sx+6

xX+2
X+3

Simplify: V27257

a. 3a‘s*y3b

b. 3a?b*J3a?p

1~ ¢ 3a%°3

26.

Solve the formula A=10+sy fory.

Solve the system of two equations for v

X + y=8
2% — y=10
a. y=-4
X=6b
b. y=6 =
y=2
c. y=4

A-10 | _A+10
C. y=4-10-r D. y=A-10r
X
$ T (z,0)
Find the x-intercept for the graph:
4x -3y =-12
a. (a,-3)
b. (3,0
c. {0,-3)

Ka =y
n lope, m, of the linZ'pasing through the
points i- 4, —3Jand (0, -2)

-Z==3
3. m=-% O *-_"_‘___“l[ _q'
b. m=8
C. Mm—4

e

d. (_ 3: 4)
30. PGSR

Find the standard form of the equation of a line
that passes through the points (1, 3) and (-2, 5)

;{ y=4x-3

{b. 2x4+3y=11]

’o./y::—-;—x-l

d. 2x-3y m—4
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MASI2A34

Which graph shows the solution to the inequality?

X-4=-1
R "
A,
‘ 109 87 5543210123456 78 310 Xé:5
- - S I I O O O R O
ST T T T T | '
-10-9*8-76-5-43-2-101 34 56 78 910
{ l
34568 78 910
345678 910
A) 3%bcS C) a%bc?
8) a3heS rD) a%b7ck ‘
b > ——
SO 2
6 Yhich expression is equivalent to L—_—M?
%
3 3x% - 4
-4 —-—
A) 3x -4+ - ) ™
- X
8) 2x® - 4 + 6x D) =g+ <
A
6 Gneen 2x - y = 6, solve for Y-
A) Yy =2Xx+6
B) y=2x-6 !
C} y =-2x+6
D) y=-2x-6
DIAOI2 A39 7 .
e Identify the equation of the graph shown. ) ) | i |
|
A) y =2x+3 f
a : 1
-+ B) y=2x-3 - — -
% °
E ) y=-2x+3 J ‘ x
It 0) y =-2x-3
S A




W AR ~
‘L\#‘;x’/.\wl'

|
10. Immy loaded three bags of sand into his wheelbarrow, The bags weighed 241 Ibs, 323 Ibs, and 44‘ Ibs. The tota

amount of sand in the wheelbarrow is

A) 1002 Ibs.
: L’
9 Q
100—- .
B) 0 bs
1
1012 Ibs.
)] 3 S

1013 1bs.
20

NENCTRUE &
m Multiply and simplify.
(x-4)?
A) xZ - 8x - 16 Q) x2 - 16

X2 - 8x + 16 D) x*-8

LN ‘_\?_ tﬂ

@ Simplify the exprassion: (x + 3){2x - 1)

$ 322 4y

o-4-

>
in
N

A 4

ot

|-

O -
B

A 4

o -

D wfi

o
[ =
-]

Y

B) -27 D) 1

[P

9~
5.—.—

(- 2) -



1S. Subtract.

(3u + 3) - (3u + 3)

B) 6 D) 6uU+6

A @ E:) S F/

B) (-1, 1) D)

e .

(-1, -1)

e )
17. Given F = §C + 32, the conversion formula for Fahrenheit to Celsius, solve for C.

-5 9. F
A C=2(F- 32 C C==._2
) g ) ‘ ) 5 32
_ 9 S F
B C==(F- 32 C==.~=
) =( ) D) 9 32
A) 0.262 ‘ C) 26.2
B) 2.62 D) 262
1A sty '
19.There are 5 peopie in an elevator. Together, they weigh 752.4 pounds. Find their average weight. (Average =
total
number of people ‘?. q a L'
A) 158.48 pounds { C) 179.65 pounds T

5

B) 162.23 pounds D) 184.57 pounds

Write an equation for the line graphed. S it B / ! " } Y ST MY + b
A) y=2 T o —i-
B) Yy =2x - i B
C) y =-2x ] ."E
D) y =2x+ 1 .
—




AL SR $ANIM D salir it )

X+2andy=x-4

y:

A)

x+2andy=-x-4

y:

B)

x- 4

y=-Xx+2andy

<

y=-x+2andy=-x-4

D)

m hich graph represents the equation y

T WA
+

-

¢
.

- ._,a!,.,.

€

-— wrl'.. -
- -
" -
{ |
[h ' ~~
] a
+
»
N
1]
1
i
a;
o

i

C) S




A) 34 <) 3-10
D) 310
. Solve the ystem of equations,
2x-y=5
IX+2y =4
A) (3. 1) Q) (2, -1)
B) (©, 2) D) (2, 172y

<) (x+6)

D) (x-4)

(2x - 10) - (3x2 + 10x) + (2x3 + 3x?)

A) 2x3 - 8x - 10' )
B) 2x3 - 6x2 + 12x -10 D)
iy (x + 2)(26% - 3% + 5).
A) 2x3 - 7x2 - x + 10 Q)
['ﬁ) 2x3+x2-x+1ol D) 2x3 -

RACA AT e AL S
YR e i,

29. What is e value of x, when -9(x - 5) =x + 22

43
A) X = 12 C) X = 2%
Loy x-21) 2
P X =2=
T e b) 3
3. Solve the system of equations.
2x-y =35
3x + 2y =4
A) (3, 1) C) (2, -1)
9 17
8) (0, 2) D) (3. 5 )

(x + "f)(x-3)

2
3x "+ 2x> +2x-10- 3%~ 10x

2x3 + 6x2 + 12x - 10

8x - 10x3 + 5x5

23 4+ 7x2 + 11x + 10

7x% - x2 + 10

1
=?
2

10



PERT PRACTICE & REVIEW

\ - FRACTIONS, DECIMALS & PERCENTS — 1

26/ . L
Fraction oo 4

Decimal 49_5_
Percent a 5 /

e

4y /
2) B R Frac'rion______g_QQ__—————-
SCHERERENEC
= e e l! Decimal . lo}
= 0 ot o e e e 0
Percent ng /
1o /
3
) e Fraction (00

Decimal - )

Percent , (9 /

4)
25‘/ _ L
Fraction 100 “4
Decimal .2 S‘
Percent 4?5 /
5)

z . L
4 2

Fraction

Decimal .5
Percent 5 0 /

I



Fraction
Decimal .33
Percent, 33/
Exponents
6 _ . . . . .
1) 54=5-5-5-5-5-5 15 625
4 _
2) 3= 3 |
3) 6=
ol
4) g% l
Scientific Notation
1) 266 x10* 26,0600
2) ,7,75 x 1071 . 335
3) 83 x 107 8 3000000
4). . 4x 1075 . 0000 Y
Simplifying Expressions with Exponents
-2 _-3)4 "L-O -20 4\-3 4 2z
D (Px7) xFe er x ) ()72 = 53
4
B W2t 908 H@ynt = 3y
@ 2nm3 )(—4m*w?) = — S S Aw> 6)—5%(x?*y)(x%y®) = - A5 % "‘y
3 *« _ 3 .5 2
3xy - __L_z 10w” y° o - 2w \’3
3xyS 7 Swy?

12ab°c?® - (absc
2a%c? 3 ‘

oc

[



6raph Inequalities

—x 272

1)

éﬂ:::::::::» X& -2
1 6-5-4-32-101 234567

p
n<s
2) 7-6-5-4-32-1012 3456 17
N n-6<-14
‘#—@% T L -~
-10 -6 -4 =2 N&-3

L b—7<-12

> b4 5
-7 6 5 4 -3 -2 -1 0 1 2 3

@)—b-2>8

2 - % -t =2

l

\ @5—4(3 +n)>-32

1 2 3 ¢ 6 7 %8 9 10 1

Solve Equations

\
@4((1 +1)=2

o =-L

2)3-9x = -6 - 8x

L X =9
_ S+w
3) 16 - 7m = 30 @) =5
M =-3 W =35
5)-4 +br=r 6)10y - 6 = 24
=]

y=3

3



Operations with Polynomials

= (5x2 — 3x + 4) + (=322 — 4) 2x%-3x

%) G2 -+ 1) — (22 +x—1) XZ-SX'*Z

3 (102 +15) — (68 — x + 11) ‘/x5+x+'-i

—3x(—5x)(5x + 2) FSx 3 “+ 3Ox7‘

5 (x— 4)(x+4) Y 2=l

6) 3
(—6n)(3n? ~13 n
7)
225+ a2 —78) 14xS - bx"-10x*
8) )
27w +18w=36  _ 3.y _ Qw +Y
-9
9) 352 Q.22
y+6xy—9x7y X+&7—5xy
3xy
10) 3x? +6x 3)\’ + o
2x v

14



Nameé: Class:

Date:

PERT Practice Test #2

Multiple Choice

Identify the choice that best completes the statement or answers the question.

1. What is the quotient of [Gy6 -9t + 12y° ) + [3y2}?

a. 2y'+3) 44
b. :Zy4 —3y2 +47
C. 2y4 -—3y2 -4

d 2yt +3y° -4
2. What is the quotient of (3):2 —9x) +(3x)?

a. x+3
b. —x-3

d x-9

ey

3. What is the quotient of [1622 —202] + (42)?

b. 4z+
c. -z
d 9z

4. What is the quotient of (2n2 + 11n—6) +(n+6)?

a. n—2
b. n+2
c. 2n+1

5. Solve by substitution:
3x+2y=-4

y=4x-2

l a. (0, —2)\ b. no solution c. (2,6)

1
d (L-3)

: A

|5



Name:

B

What is the solution of the system? Use elimination.

o O, Sx + 4"; Ly
X - 4_); = ] 4
o (3,-4.3) b, (~3,2)

d (4, 1)

Graph the inequality,
— 13X - 7y < 221 Y A é..
: -

a, r(wm-\—ovmm».»mr‘»mw e et
i

|

)

ViS5

i
R S
o |
Wi
1
- F
2

R

T I VIRVER

Y
#
e
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e



11.

a. y=-3x+4 [b y

a. 188

a. 294

What is the solution of the equation?

3x-9-5x=-7
a. -3

< -3x+4

9. Evaluate u +xy, foru=18,x=10,and y =8.

b. 36

b. 198

b. 0

What is the solution of the equation?

a. 4

12, —4x—-9=-5-06x

b. 1

What is the solution of the equation?

a. 3

b. 0

_ 13.3p-1=5p-1-20-2p

14. Which equation has no solution?

a. 8-(5v+3)

=5v~-5

b. 3m-6=5m+7-m

V= |
m=-3

C.

C.

y =z -3x-4

98 4 224

10. Evaluate %H}-z, for u=20,x=4,y="7,and z=10.

c. 900 d 786
o=l d 2

c. -1 EZ‘
c. -9 d. —ld
c. 3w+d-w=5w-2w-2)

df 7y+9=Ty-6

L —3x Y

d. ys—3x—4

ID: A

d0 2
A2+ ()7 )



Name:

What are the solutions of the inequality?

15, 12x—=3x+11>4x— (17 —9%x)

l ! 14
a. x>-7 b. x<7 i C. x<_.ﬁ d. x>——1-—1-

What are the solutions of the inequality?

16. 10x-10-7x=3x-2

a. x=-8 _c. all real numbers
b. x=8 { 4. no solufion \

Simplify the product.

17. (=2h + 5)(5h - 2)

a. -10h* =21k + 10 c. —10h% —29h - 10
b. -10A* + 21k + 10 [ d -10n" + 29k - 10

Simplify the product.

18. (4x — 4)(3x — 4)

12x” - 28x + 16] c. 12x* +4x-16
b. 12x* —4x - 16 d 12x* +28x + 16

What is the factored form of the following expressions?

19. @2 — 184 + 80 .
a. (d—8)(d+10) Le. (d-8)d-10)
b. (d+8)(d+ 10) d (d+8)(d-10)

What is the factored form of the expression?

20. 15x2 — 16xy + 42

a.  (3x —20(5x+2y) c. (Bx+2)(5x-2y)
[ b Gx-2)(5x=2y)] d. (3x +2y)(5x +2))
21. 50x* +80x+32
[a. 2(5x+4)%\ c. 2(5x-4)>
b. 2(4x+5)? d 2(4x-5)°

22. Solve 3x? + 6x + 1 = 0. If necessary, round your answer(s) to the nearest hundredth.

a. There are no solutions. ¢, x=-1.100rx=-10.90
b. x=-5.180rx=-6.82 d x=-0.180rx=-1.82
4

| &



